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Section One: Listening Comprehension

Part 1. Picture Questions (8%)

For each picture, you will hear four short statements.

Choose the statement that best describes what you see
in the picture.

()1

Part 2. Best Response Questions (12%)
Listen to the statement or question and choose the best
response.

(' )3.(A)Sure. Is he busy today?
(B) Yes. I'll tell him about it.
(C)I'm afraid he won’t be there.
(D)No. He’s gone to Brussels.

(' )4. (A)Yes. I could find no faults with her work.
(B) You’re right. She could have done better.
(C) No, I was surprised she did it so fast.
(D)I know. She didn’t have time to finish.

()5. (A)Some food after such a long trip would

be great.

(B) I need to use the restroom for a few
minutes, too.

(C) We’ll need money if we want to buy
anything.

(D) Let’s buy a newspaper to find out what’s
going on.

Part 3. Conversation Questions (12%)
Listen to each conversation and answer the question.

()6. (A)They won’t get to the finals.
(B) They’re unlikely to win.
(C) They always get through to the finals.
(D) They’re likely to win.

() 7. (A)Go with her to Europe.
(B) Give her his cousin’s number.
(C) Ask his cousin for more information.
(D) Send her the information.

(' )8.(A)The class is almost full.
(B) The final signup date is soon.
(C) It started weeks ago.
(D)Itisn’t very popular.

Part 4. Short Talk (8%)

Listen to the passage and answer the questions.

()9. (A)She wants to leave work early from now
on.
(B) She wants to make her paid vacation
longer.
(C) She wants to work extra hours at extra

pay.
(D) She wants to take a few days off from
work.

() 10. (A)Put her files on the network drive.
(B) Clear her schedule of all meetings.
(C) Give Jerry her computer’s password.
(D) Cover for her coworkers who are on
leave.
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Section Two: Reading Comprehension
Part 1. Fill-in-the-Blank Questions (28%)
Choose the best answer to fill in each blank.

() 1.1like Esther’s boyfriend much more
than her last one.
(A) steady (B) previous
(C) imaginary (D) current

( )2.T’d love to see more of Rome, but my
is pretty crowded already.
(A)iteration (B) itinerant
(C) itinerary (D)iterance

() 3. T want to buy Jim a new guitar, but these
prices are too
(A)sheer
(C) steep

"(B) hilly
(D) buoyant

()4.1would like to my reservation for a
room before I head off.
(A)spot (B) construct

(C) confirm (D) ruin
( )S5. Canyou for me when I'm away for my
vacation?
(A)stand (B) hold
(C) keep (D) cover

() 6. The candidate will be working hard over the
next few days to
(A)turn over
(C) win over

(B) run down
(D)hand over

() 7. Jason only cares about himself. Therefore,
he has a reputation for selfishness.
(A)presented (B) acquired
(C) required (D) forbidden

Part 2. Cloze (20%)
Choose the best answer to fill in each blank.

Many people from outside the United States
find it surprising how the US president is elected.
Though the United States is a(n) _ (8) _ republic,
only members of Congress are elected by a
popular vote. When the president is to be elected,
only citizens of the 50 states and Washington DC
have a vote. Citizens of other US  (9) , like
those of Puerto Rico, can’t vote for the US
president. Then comes the counting system, where
things get even more _ (10) . In many countries,
the candidate _ (11)  the most votes from the
public wins the election. In the United States,
however, each state has a certain amount of
electoral votes assigned to it. The amount assigned
is based on the state’s population. These electoral
votes are actually ~ (12)  decide who wins the
race.

the undecided voters. .

( )8. (A)multiple (B) accidental
(C) entertaining (D) constitutional
()9. (A)series (B) territories

(C) ingredients (D)anniversaries
() 10. (A)realistic (B) confusing
(C) emotional (D) memorable
( )11. (A)for (B) under
(C) with (D) from
( )12. (A)what (B) things
(C) that (D)ones

Part 3. Passage Questions (12%)
Read the passage and answer the questions.

Two employees are having a meeting with their
boss. They have to discuss the recent sales
numbers from their line of clothing products. The
numbers are not at all close to what the projections
were. In fact, men’s fashions have sold less than
half of what was projected. It is suggested that one
of the reasons for this poor performance is the
slow economy. The boss points out that the focus
group indicated that the new clothing line was
what they wanted. However, one of the employees
reminds him that there were only four people in
the focus group, and that some of them didn’t
seem too interested in being there. It is suggested
that the advertising campaign might not have
reached the desired audience, and that the
company could run a new campaign. The boss
wants to think about it first as it might be too
expensive. He promises to reach a decision in the
near future, and the meeting is wrapped up.

() 13. What is the meeting about?
(A)How to start a new ad campaign.
(B) How recent sales have been going.
(C) Ideas for new styles of clothing.
(D) The best way to set an agenda.

() 14. What might make the boss feel disappointed?
(A)Projections were far below sales.
(B) Half of their clothes were sold to
women.
(C) Sales were far below projections.
(D)Men’s fashion made up half of their
sales.

() 15. Which of the following is NOT true?

(A) The focus group was quite large.

(B) The poor economy is blamed for low
sales.

(C) The focus group seemed to like the new
clothing line.

(D) Some weren’t interested in being in the
focus group.
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SECTION ONE: LISTENING COMPREHENSION

In the Listening test, you will be asked to demonstrate how well you understand spoken English. The entire
Listening test will last approximately 45 minutes. There are four parts, and directions are given for each part. You

must mark your answers on the separate answer sheet. Do not write your answers in your test book.

PART 1  Picture Description

Directions: For each question in this part, you will hear four statements about a picture in your test book. When you
hear the statements, you must select the one statement that best describes what you see in the picture. Then find the
number of the question on your answer sheet and mark your answer. The statements will not be printed in your test

book and will be spoken only one time

Sample Answer
Example ® @ ® @
Example
You will hear:

(A) The man is dancing.

(B) Thanks. I try to make it taste like the real
thing.

(C) They’re standing near the table.

(D) Oh, no. Did I add too much cinnamon again?

Statement (C), “They’re standing near the table,” is the

best description of the picture, so you should select answer (C) and mark it on your answer sheet.

PART 2  Best Response Questions

Directions: You will hear a question or statement and three responses spoken in English. They will not be printed
in your test book and will be spoken only one time. Select the best response to the question or statement and mark

the letter (A), (B), or (C) on your answer sheet.

Example
You will hear: Where is the meeting room?

You will also hear: (A) To meet the new director.
(B) It’s the first room on the right.
(C) Yes, at two o’clock.
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The best response to the question “Where is the meeting room?” is choice (B), “It’s the first room on the right,” so

(B) is the correct answer. You should mark answer (B) on your answer sheet.

PART 3 Conversation Questions

Directions: You will hear some conversations between two people. You will be asked to answer three questions
about what the speakers say in each conversation. Select the best response to each question and mark the letter (A),
(B), (C), or (D) on your answer sheet. The conversations will not be printed in your test book and will be spoken
only one time.

Listen to the paragraph and answer the questions.

Example
You will hear:  (Male) I don’t know if we should make the purchase from Bob or Jim.

(Female) Well, we’ve been using Bob for a long time. And we’re always satisfied.
(Male) True. But I’ve heard good things from other people about Jim.

(Female) So, call up Jim and ask him to give us a quote.

Q: What does the woman want the man to get from Jim?

You will read: (A) The price he will charge for the services and products.
(B)  Anexample of the work he does so they can try it out.
(C)  Something he says about his product that sounds important.

(D) A description of his previous working experience.

The best response to the question “What does the woman want the man to get from Jim?” is (A), “The price he will
charge for the services and products.” Therefore, you should choose answer (A) and write it in the parentheses in

front of the question number.

PART 4 Short Talk

Directions: You will hear some talks given by a single speaker. You will be asked to answer three questions about
what the speaker says in each talk. Select the best response to each question and mark the letter (A), (B), (C), or (D)

on your answer sheet. The talks will not be printed in your test book and will be spoken only one time.

Example
You will hear:

Scooters are of course a popular form of transportation in Taiwan, but they are catching on in the US as well. With
the price of gas close to three dollars per gallon, commuters are embracing the economical scooter. It only takes
US$5 to fill its 1.5 gallon gas tank and it can get 101 miles per gallon. Try doing that in a car! Scooter sales in the
US have rocketed from 12,000 sold in 11017 to 113,000 in 2005, and the boom is not expected to slow anytime soon.

With more scooters being sold, riders are forming clubs and lobbying governments for more scooter-friendly laws.

11



There are also a number of websites devoted to scooter maintenance springing up on the Internet. The cost benefits
of scooter ownership are obvious, but riders say they also enjoy the fun and efficiency of riding a scooter. Try

weaving through traffic jams in a car!

You will hear: 1. How many miles can a scooter get on one tank of gas according to the passage?
Youwill read:  (A) Fifty miles.

(B) One hundred miles.

(C) One hundred fifty miles.

(D) Two hundred miles.

—  The answer to this guestion is (C).

SESSION TWO: READING COMPREHENSION

In the Reading test, you will read a variety of texts and answer several different types of reading comprehension
questions. The entire Reading test will last 1545 minutes. There are three parts, and directions are given for each
part. You are encouraged to answer as many questions as possible within the time allowed. You must mark your

answers on you question/answer sheet..

PART 1. Fill-in-the-Blank Questions

Directions: A word or phrase is missing in each of the sentences below. Four answer choices are given below each
sentence. Select the best answer to complete the sentence.

Then mark the letter (A), (B), (C), or (D) on your answer sheet.

1. The financial audit of Soft Peach Software----completed on Wednesday bya certified accounting firm.
(A) to be
(B) having been
(C) was

(D) were

PART 2. Cloz
Directions: Read the texts that follow. A word or phrase is missing in some of the sentences. Four answer choices are
given below each of the sentences. Select the best answer to complete the text. Then mark the letter (A), (B), (C), or

(D) on your answer sheet.

Sample Questions -

These days, Honda sells US$80 billion dollars in products each year. It is an industry leader in cars, motorcycles,
and lawnmowers. Indeed, it’s hard to believe that it once operated out of a wooden (3) . So how did Honda,
founded in Japan by Soichiro Honda in 1948, become so successful inthe (4) of strong competition? There are

a number of different theories. One put Honda’ success down (5) a combination of luck, timing, and

12



adaptability instead of a long-term strategy. Honda initially wanted to sell big motorcycles in the US, since
Americans love their gas (6) . But their employees there realized the little scooters they rode at work attracted a
lot of attention, so they changed their strategy. Another theory says that Honda has benefited from economies of
_ (7), in which engines are mass-produced, thus keeping cost-per-unit low. Whatever the reason, there is
definitely some genius behind the making of Honda as a global brand.

() 3 (A track

(B) shack
(C) casket
(D) plank

— The answer to this question is (B).

() 4 (A) way

(B) back
(C) mass
(D) face

— The answer to this guestion is (D).

PART 3. Passage Questions

Directions: In this part you will read a selection of texts, such as magazine and newspaper articles, letters, and
advertisements. Each text is followed by several questions. Select the best answer for each question and mark the

letter (A), (B), (C), or (D) on your question/answer sheet.

Sample Questions -
From 11011 to 2002, Argentina struggled with mounting debts and high unemployment, due to IMF-directed

economic policies enacted to fight inflation. Many people blame the IMF for the economic collapse which followed.

Foreign investors lost confidence in Argentina, prompting a destabilizing movement of USD holdings offshore, and
the government froze bank accounts. The country defaulted on its debts after people took to the streets, forcing the
government to collapse. The currency was previously fixed as equal to the USD, but this policy was abandoned,

leading to a crash which sent many people’s savings and investments down the drain.

A few years later, Argentina has come a long way. The incoming president, Nestor Kirchner, was free to introduce
big changes, like improving the tax collection system and increasing social welfare spending, while maintaining
tight fiscal control. Restructuring Argentina’s debt has saved billions, and controls to prevent short-term investments
have been implemented. The low exchange rate has boosted exports, attracted investment, and helped the domestic

economy by making imports more expensive.

Today, Argentina’s GDP growth rivals China’s, it has no debt to the IMF, and has healthy foreign currency reserves.

13



There is still a long way to go, but the collapse of 2002 was not all bad.

(

(

) 8.

) o.

Why did the Argentine government freeze bank accounts?
(A) Torestore confidence.

(B) Todefault on its debts.

(C) Toprevent too much money leaving the country.
(D) Tofollow the IMF’s policies.

—  The answer to this question is (C).

What change to policy was made after the government collapsed?
(A) Savings and investments were abandoned.

(B) The currency was no longer equal to thedollar.

(C) The US dollar was adopted as the newcurrency.

(D) Argentina did not repay its debts.

— The answer to this question is (B).
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